- -1 -
gt 5
= 8
o °
5 5107
1072
107
_9101.%:""!""I""!""l!""!"" 010—3 I
T E ; i T [ PR T 1 F
IS 1A05§ : ! : & |
i3 e 1 0.9 X:
0.95F ; ! . . ; E . . i
oE H H H A H C A A '|‘: :
9372 1 0 12 3 83 =1 0 12 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_mKFIt_T1original
—e— DOQM_mkFit_TT_JanUpdate-noErr
—— DQM_mKFit_TT JanUpdate-statErr
—— DOM_mkFit_TT JanUpdate-systErr
= 1 2 1=
5 S
> >
5 S
5 o
107t 107t
;
nEARARITRARARANANI|EN
2 2 E
< I F
4 [ W | SRR [ B 1 E S o | R & REETREEES
1F | | 15— -------- S el <t ke
0983 -1 0 1 2 3 093" 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
s 1 .
E_ N
"
o
o
5

,_.
<
L

o |

I F

A oeeeees
| S £
0831 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


